

Provided for non-commercial research and educational use.  
Not for reproduction, distribution or commercial use.

# Mathematica Balkanica

Mathematical Society of South-Eastern Europe  
A quarterly published by  
the Bulgarian Academy of Sciences – National Committee for Mathematics

---

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal  
<http://www.mathbalkanica.info>

or contact:

Mathematica Balkanica - Editorial Office;  
Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria  
Phone: +359-2-979-6311, Fax: +359-2-870-7273,  
E-mail: [balmat@bas.bg](mailto:balmat@bas.bg)

## An Asymptotic Formula Having no Remainder Term for the Orthogonal Hahn Polynomials of Discrete Variable

I. I. Šarapudinov

Presented by Bl. Sendov

The classical orthogonal Hahn polynomials may be defined by the following equality

$$(1) \quad \binom{x+\alpha}{x} \binom{N-1-x+\beta}{N-1-x} \binom{N-1}{n} Q_n(x; \alpha, \beta, N) \\ = \binom{n+\beta}{n} \Delta^n \left[ \binom{x+\alpha}{\alpha+n} \binom{N-1-x+\beta+n}{\beta+n} \right],$$

where  $\Delta f(x) = f(x+1) - f(x)$ ,  $\Delta^n f(x) = \Delta(\Delta^{n-1} f(x))$  ( $n \geq 2$ ).

Let  $0 \leq \alpha, \beta$  be integers

$$(2) \quad \sum_{k=0}^m S(m, k, \gamma) x^k = (x+\gamma) \dots (x+\gamma-m+1),$$

in particular, at  $\gamma=0$   $S(m, k, 0) = S(m, k)$  are the Stirling numbers of the first kind;

$$(3) \quad \sum_{l=0}^r \sigma(r, l) x \dots (x-l+1) = x^r \quad (x \dots (x-l+1) \equiv 0 \quad (l=0)),$$

that is  $\sigma(r, l)$  ( $0 \leq l \leq r$ ,  $r=0, 1, 2, \dots$ ) are the Stirling numbers of the second kind;

$$F_{r,k,j}(t) = S(n+\alpha, k, \alpha) S(n+\beta, j) \sigma(r, n) N^{k+j-r-n}$$

$$\times (-1)^{r-j} 2^{2r-k-j} (1+t)^{k-r} (1-t)^{j-r} P_r^{(j-r, k-r)}(t) \quad (j, k \geq r),$$

$$\frac{k! j!}{r! (k+j-r)!} \left( \frac{1+t}{2} \right)^{k-r} P_j^{(r-j, k-r)}(t) \quad (j < r \leq k),$$

$$\frac{k! j!}{r! (k+j-r)!} \left( \frac{t-1}{2} \right)^{j-r} P_k^{(j-r, r-k)}(t) \quad (k < r \leq j),$$

$$P_{j+k-r}^{(r-j, r-k)}(t) \quad (k, j < r \leq j+k),$$

$$0 \quad (j+k < r),$$

where

$$(4) \quad P_n^{(\gamma, \nu)}(x) = \frac{(-1)^n}{2^n n!} (1-x)^{-\gamma} (1+x)^{-\nu} \frac{d^n}{dx^n} \{ (1-x)^{n+\gamma} (1+x)^{n+\nu} \}$$

is the Jacoby polynomial.

**Theorem.** *The following asymptotic formula concerning  $N$  is true for the integers  $\alpha, \beta \geq 0$*

$$(5) \quad \frac{(n+\alpha)! (N-1)! [N(1+t)/2+1]_{\alpha} [N(1-t)/2]_{\beta}}{(-1)^{n+\beta} n! (N-n-1)! N! \alpha!} Q_n \left[ \frac{N}{2}(1+t); \alpha, \beta, N \right] \\ = \sum_{\substack{n \leq r \leq 2n+\alpha+\beta \\ 0 \leq k \leq n+x \\ 0 \leq j \leq n+\beta}} F_{r,k,j}(t),$$

where  $(q)_k = q(q+1)\dots(q+k-1) (k \geq 1), (q)_0 = 1$ .

**Proof.** Let

$$\mu(x) = \binom{x+\alpha}{x} \binom{N-1-x+\beta}{N-1-x}, \quad S(x) = \binom{x+\alpha}{\alpha+n} \binom{N-1-x+\beta+n}{\beta+n}.$$

Then from (1) we deduce

$$(6) \quad \binom{N-1}{n} \mu(x) Q_n(x; \alpha, \beta, N) = \binom{n+\beta}{n} \Delta^n S(x) \\ = (-1)^n \binom{n+\beta}{n} \sum_{k=0}^n (-1)^k \binom{n}{k} S(x+k) \\ = (-1)^n \binom{n+\beta}{n} \sum_{k=0}^n \frac{S(k+x)}{\cos(k\pi)} \frac{\Gamma(n+1)}{\Gamma(n-k+1)\Gamma(k+1)} \\ = \binom{n+\beta}{n} \frac{(-1)^n n!}{2i} \int_0 \frac{S(x+z) dz}{\sin(\pi z) \Gamma(n-z+1) \Gamma(z+1)},$$

where 0 is the closed loop including the point  $z=0, 1, \dots, n$ . Since  $\sin(\pi z) \Gamma(n+1-z) = (-1)^n \pi / \Gamma(z-n)$ , from (6) we find

$$(7) \quad \binom{N-1}{n} \mu(x) Q_n(x; \alpha, \beta, N) = \binom{n+\beta}{n} \frac{n!}{2\pi i} \int_0 \frac{S(x+z) \Gamma(z-n)}{\Gamma(z+1)} dz.$$

It is known that the following expansion is true for the Stirling numbers of the second kind

$$(8) \quad \frac{\Gamma(z-n)}{\Gamma(z+1)} = \frac{1}{z(z-1)\dots(z-n)} = \sum_{r=n}^{\infty} \frac{\sigma(r, n)}{z^{r+1}} \quad (|z| > n).$$

Since  $S(t)$  is the polynomial of the  $2n + \alpha + \beta$  power, from (7) and (8) we deduce

$$(9) \quad \begin{aligned} & \binom{N-1}{n} \mu(x) Q_n(x; \alpha, \beta, N) \\ &= \binom{n+\beta}{n} \sum_{r=n}^{2n+\alpha+\beta} \frac{n! \sigma(r, n)}{2\pi i} \int_0 \frac{S(z) dz}{(z-x)^{r+1}}. \end{aligned}$$

It follows from (2) that

$$(10) \quad S(z) = \frac{(-1)^{n+\beta}}{(n+\alpha)!(n+\beta)!} \sum_{k=0}^{n+\alpha} \sum_{j=0}^{n+\beta} S(n+\alpha, k, \alpha) S(n+\beta, j) z^k (z-N)^j.$$

The equalities (9) and (10) give

$$(11) \quad \begin{aligned} & \binom{N-1}{n} \mu(x) Q_n(x; \alpha, \beta, N) \\ &= \binom{n+\beta}{n} \sum_{r=n}^{2n+\alpha+\beta} \frac{\sigma(r, n) n!}{r!} \sum_{\substack{0 \leq k \leq n+\alpha \\ 0 \leq j \leq n+\beta}} \frac{S(n+\alpha, k, \alpha) S(n+\beta, j)}{(n+\alpha)!(n+\beta)!(-1)^{n+\beta}} \frac{d^r}{dx^r} \{x^k (x-N)^j\}. \end{aligned}$$

Let  $x = N(1+t)/2$ ,  $\mu_N(t) = \mu(N(1+t)/2)$ . From (4) and (11) we find

$$(12) \quad \begin{aligned} & \binom{N-1}{n} \mu_N(t) Q_n\left(\frac{N}{2}(1+t)\right) = \frac{(-1)^{n+\beta}}{(n+\alpha)! \beta!} \sum_{r=n}^{2n+\alpha+\beta} \\ & \times \sum_{\substack{0 \leq k \leq n+\alpha \\ 0 \leq j \leq n+\beta \\ k+j \geq r}} \frac{\sigma(r, n) S(n+\alpha, k, \alpha) S(n+\beta, j)}{(N/2)^{r-k-j} 2^{-r} (-1)^{r-j}} (1+t)^{k-r} (1-t)^{j-r} P_r^{(j-r, k-r)}(t). \end{aligned}$$

For the Jacoby polynomials we know the following formula

$$\binom{n}{l} P_n^{(-l, \nu)}(x) = \binom{n+\nu}{l} \left(\frac{x-1}{2}\right)^l P_{n-l}^{(l, \nu)}(x),$$

where  $l$  – the integer,  $1 \leq l \leq n$ . It gives

$$(13) \quad (1-t)^{j-r} P_r^{(j-r, k-r)}(t) = \binom{k}{r-j} \binom{r}{r-j}^{-1} (-2)^{j-r} P_j^{(r-j, k-r)}(t) \quad (j < r),$$

$$(14) \quad \begin{aligned} & (1+t)^{k-r} P_r^{(j-r, k-r)}(t) = (1+t)^{k-r} P_r^{(k-r, j-r)}(-t) (-1)^r \\ & = 2^{k-r} \binom{j}{r-k} \binom{r}{r-k}^{-1} P_k^{(r-k, j-r)}(-t) (-1)^k \quad (k < r), \end{aligned}$$

$$(15) \quad (1+t)^{k-r} (1-t)^{j-r} P_r^{(j-r, k-r)}(t) = (-1)^{r-j} 2^{j+k-2r} P_{j+k-r}^{(r-j, r-k)}(t).$$

Since

$$\mu_N(t) = \mu\left(\frac{N}{2}(1+t)\right) = \frac{1}{\alpha! \beta!} [N(1+t)/2 + 1]_\alpha \left[\frac{N}{2}(1-t)\right]_\beta,$$

then from (12)-(15) we proved the theorem.

Assuming  $\alpha = \beta = 0$  from the theorem for the Chebychev polynomials  $Q_n(x, N) = Q_n(x; 0, 0, N)$ , we deduce the following result.

**Corollary 1.** For all  $t$  the following asymptotic formula exists

$$(16) \quad \frac{(-1)^n (N-1)!}{(N-1-n)! N^n} Q_n\left(\frac{N}{2}(1+t); 0, 0, N\right) \\ = \sum_{r=n}^{2n} \sum_{\substack{0 \leq k, j \leq n \\ r \leq k+j}} \sigma(r, n) \frac{S(n, k) S(n, j)}{N^{r+n-j-k}} P_{j+k-r}^{(r-j, r-k)}(t).$$

Since  $(t-1/N < \theta_i < t)$

$$P_n^{(0,0)}\left(t - \frac{1}{N}\right) = P_n^{(0,0)}(t) - \frac{n+1}{2N} P_{n-1}^{(1,1)}(t) + \frac{(n+1)(n+2)}{8N^2} P_{n-2}^{(2,2)}(\theta_1),$$

$$P_{n-1}^{(0,1)}\left(t - \frac{1}{N}\right) = P_{n-1}^{(0,1)}(t) - \frac{n+1}{2N} P_{n-2}^{(1,2)}(\theta_2),$$

$$P_{n-1}^{(1,0)}\left(t - \frac{1}{N}\right) = P_{n-1}^{(1,0)}(t) - \frac{n+1}{2N} P_{n-2}^{(2,1)}(\theta_3),$$

$$P_{n-1}^{(1,1)}\left(t - \frac{1}{N}\right) = P_{n-1}^{(1,1)}(t) - \frac{n+2}{2N} P_{n-2}^{(2,2)}(\theta_4),$$

$$\sigma(n, n) = 1, \quad S(n, n) = 1, \quad \sigma(n+1, n) = \binom{n+1}{2}, \quad S(n, n-1) = -\binom{n}{2},$$

$$-\frac{n+1}{2} P_{n-1}^{(1,1)}(t) + S(n, n-1) [P_{n-1}^{(1,0)}(t) + P_{n-1}^{(0,1)}(t)] + \sigma(n+1, n) P_{n-1}^{(1,1)}(t) \equiv 0,$$

then from (16) we find

$$(17) \quad \frac{(-1)^n (N-1)!}{N^n (N-1-n)!} Q_n\left(\frac{N}{2}\left(1+t - \frac{1}{N}\right); 0, 0, N\right) = P_n^{(0,0)}(t) \\ + \frac{1}{N^2} \sum_{\substack{n \leq r \leq 2n \\ 0 \leq k, j \leq n \\ r \leq j+k \\ r+n-j-k \geq 2}} \frac{\sigma(r, n) S(n, k) S(n, j)}{N^{r+n-j-k-2}} P_{j+k-r}^{(r-j, r-k)}\left(t - \frac{1}{N}\right) + R_{n,N}(t),$$

where

$$(18) \quad R_{n,N}(t) = \frac{1}{N^2} \left[ \frac{(n+1)(n+2)}{8} P_{n-\frac{1}{2}}^{(2,2)}(0_1) - \frac{n+1}{2} S(n, n-1) (P_{n-\frac{1}{2}}^{(1,2)}(0_2) + P_{n-\frac{1}{2}}^{(2,1)}(0_3)) - \frac{n+2}{2} \sigma(n+1, n) P_{n-\frac{1}{2}}^{(2,2)}(0_4) \right].$$

From (17) and (18) we deduce

**Corollary 2.** For fixed  $n$  and  $N \rightarrow \infty$

$$(-1)^n \frac{(N-1)!}{N^n(N-1-n)!} Q_n\left(\frac{N}{2}\left(1+t-\frac{1}{N}\right); 0, 0, N\right) = P_n^{(0,0)}(t) + O\left(\frac{1}{N^2}\right).$$

This result was obtained in another way in [2].

### References

1. Karlin S., McGregor J. L. The Hahn polynomials, formulas and an application. *Scripta math.*, 26, 1961, 33-46.
2. Никифоров А. Ф., Суслов С. К., Уваров В. Б. Классические ортогональные полиномы дискретной переменной. М., 1985.

I. I. Šarapudinov  
Daghestan pedagogical institute  
367010 Makhachkala  
Timiryaseva street,  
no 23, f.86  
USSR

Received 30.11.1987